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SAMPLE QUESTION 1 SOLUTIONS

HYPOTHESIS WRITING (SAMPLE QUESTION 1)

Correct answer: D (selected 23% of the time); Other: C (31%), A (26%) 

It appears from the two most common answers that students struggle with the structure of a 

testable hypothesis. To be clear, a hypothesis is an explanation for a phenomenon. Choice A is a 

hypothesis. However, it is not a testable one - that is, there is no prediction of what might happen if 

there was a change in one of the variables. Typically, this is achieved by using an “if, then” 

statement. Choice C is an “if, then” statement. However, it provides the wrong structure. Testable 

hypotheses follow the structure “if <independent variable> increases/decreases, then <dependent 

variable> increases/decreases.” In this case, the independent variable is fertilizer brand and the 

dependent variable is battery voltage. Hence, the answer is D. 
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SAMPLE QUESTION 2 SOLUTIONS

HYPOTHESIS WRITING (SAMPLE QUESTION 2)

Correct Answer: C (selected 23% of the time); Other answers: A (21%), D (18%), B (15%) , E (14%). 

Students struggled with the same multiple choice answers in questions #24 and in question #6. A 

total of 39% of students chose Choice A and D, which are both hypotheses. However, both are not 

testable hypotheses. Choice B, an “if, then”, was selected by 15% of the time. However, the “if, 

then” statement in B is out of order. That is, a testable hypotheses has a structure, “if <independent 

variable” increases/decreases, then “dependent variable> increases/decreases.” Perhaps, in this 

question, students may also struggle with identifying what an independent variable and dependent 

variable might be. An independent variable, like number of movies featuring smoking, can be altered 

by researchers. A dependent variable, like e-cigarette revenues, may be dependent on how often 

smoking is shown in movies. Hence, the choice is C. 
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SAMPLE QUESTION 3 SOLUTIONS

INFERENCING/UNIT ANALYSIS (SAMPLE QUESTION 3)

Correct Answer: A (selected 24% of the time); Other answers: E (39%), D (16%), B (12%), C (5%) 

A key piece of information in the passage is that hybrid cars “have the best fuel consumption in 

situations where the car is constantly stopping and starting.” Cars tend to start and stop more in the 

city as opposed to the highway. Thus, fuel consumption (in miles per gallon) is better in the city than 

on highways. That means that hybrid cars will have a higher fuel consumption (ie. travel more miles 

per gallon) in the city than on the highway. The choice is A. Approximately 39% of students chose E. 

This may be due to confusion with regards to how fuel consumption is measured (that is, in mpg). 

Roughly 16% and 5% % of students chose Choice D and C respectively. Both are incorrect due to 

the fact that here is no difference in fuel consumption in the city vs on the highway. This contradicts 

what the passage initially says. 
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SAMPLE QUESTION 4 SOLUTIONS

INFERENCING/UNIT ANALYSIS (SAMPLE QUESTION 4)

Correct Answer: B (selected 28% of the time); Other answers: A (50%) 

According to the passage, fuel consumption is expressed as distance travelled to volume of fuel 

consumed (ex. miles per gallon, mpg or mi/gal) in the United Kingdom. In other words, the correct unit 

would have a unit of distance divided by a unit of volume. Choice B is the correct choice (ie. feet is a 

unit of distance, litre is a unit of volume). Roughly 50% of respondents chose A, which suggests 

students may not have understood the concept of fuel consumption well enough to make an 

inference. Instead, students may have just chosen an answer that incorporated the same units 

mentioned in the passage. 
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SAMPLE QUESTION 5 SOLUTIONS

SCIENTIFIC REASONING (SAMPLE QUESTION 5)

Correct Answer: E (selected 28% of the time); Other answers: C (39%), B (13%) 

According to the passage, only Hypothesis 3 suggests that marine life was the first to go extinct in 

the Great Dying due to changes in shallow aquatic environments as a result of Pangaea. Hypothesis 

1 and 2 support the idea that terrestrial plants and animals were the first to go extinct. Thus, 

choices A, B, and D cannot be our answer. Approximately 39% of students incorrectly chose C, which 

mentions hypothesis 3 but it’s reasoning (ie. the drying up of coastlines) directly contradicts the 

hypothesis (which suggests there would have been seasonal monsoons by the coast). Choice E, 

which reasons that nutrient circulation led to marine extinction, provides an explanation that fits 

with the hypothesis for marine life extinction. 
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SAMPLE QUESTION 6 SOLUTIONS

SCIENTIFIC REASONING (SAMPLE QUESTION 6)

Correct Answer: A (selected 31% of the time); Other answers: D (24%), B (14%), C (14%), E (11%) 

The question claims extinction took place over 10,000 years, which is a quick extinction according 

to the passage. Choice D is incorrect because hypothesis 3 suggests requires a long extinction 

period. Choice B is incorrect because Hypothesis 2 does not suggest greenhouse gases as being the 

culprit of extinction. Choice E is incorrect because the premise of Hypothesis 2 is that extinctions 

were caused by an asteroid collision, not volcanic activity. Although choice C correctly mentions 

hypothesis 1, it provides the incorrect reasoning (Hypothesis 1 does not mention weather patterns 

as a cause for extinction). Choice A, which correctly mentions hypothesis 1 and provides a valid 

complimentary reason,  is correct. 


